= DuraFlap

DURAFLAP INSTALL DIRECTIONS FOR
2015-2020 Tahoe/Suburban/Yukon Front

Included supplies: 2- 1/4-20x1”Stainless Steel Black Oxide (SSBO) Hex Bolts; 2- 1/4-20x1.25”(SSBO) Hex
Bolts; 4- 1/4” SS Washers; 2- (SS) Flange Nuts; 2- Plastic Spacers #10048; 2- Flat Clips #10001.
Thread locker should be used on any fasteners that are not nylok

Step 1:

Step 2:

Step 3:
Step 4:

Step 5:

Step 6:
Step 7:
Step 8:
Note:

Un package your new front mud flaps. Smooth side is rear side. If applicable, Stainless Steel weights
facing the rear of the truck.

Attach the flat clip to the front (smooth) side of the mud flap at Point C, with the 1/4-20x1.25 hex bolt
going thru the washer, flat clip, mud flap; then secure with flange nut as shown on rear side of install
directions. Leave the flange nut loose for now.

Remove factory screws at points “B and D”. Set these aside, you will be reusing them. The factory
faceplate is removed permanently.

Attach the plastic spacer in the fender well at point “D” with the extra hole in the spacer positioned
above the indented slot, use the factory screw you removed to attach the spacer.

Place the mud flap with the smooth side to the rear and the textured side towards the tire, and secure
with the supplied 1/4-20x1” bolt and washer going through the mud flap and into the spacer at point
“A”.  (See picture on back). Leave slightly loose for now.

Place the second factory screw thru the mud flap at point “B” and into the lower factory hole.

Leave slightly loose for now.

Slip the top longer end of the “FLAT CLIP” over the lower edge of the fender liner, at Point “C” and
tighten causing the clip to grip the fender liner firmly. See picture on back.

Align the mud flap to be plumb vertically and tighten all the screws and bolts.

Recheck bolts and screws every three months and retighten as necessary.

To keep your mud flaps looking like new replace the moisture that the mud takes away with a leather or vinyl
moisturizer, or inexpensive furniture polish at least twice a year.

If you have any questions, please phone us at (541) 245-9148.

CF12 15 SUB, CF12 15 Tahoe 2- Plastic Spacers #10048; 2- Flat Clips #10001




CF12 15 SUB, CF12 15 Tahoe 2- Plastic Spacers #10048; 2- Flat Clips #10001




